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QUESTION 1

You are creating a CIFS-based SVM, but the SVM cannot join the domain. 

In this scenario, which two actions would be helpful in troubleshooting the problem? (Choose two.) 

A. Verify that the clocks are synchronized between the SVM and the domain controller. 

B. Verify that each node has a data LIF. 

C. Verify that the data LIF can access the Active Directory domain controller. 

D. Verify that the cluster admin account is used to join the Active Directory. 

Correct Answer: BC 

 

QUESTION 2

A network administrator has configured an upstream switch for LACP. 

In this scenario, which action should be performed when the NetApp interface group is created? 

A. Set the type to "static multimode". 

B. Set the distribution function to "port". 

C. Set the type to "dynamic multimode". 

D. Set the distribution function to "IP". 

Correct Answer: C 

 

QUESTION 3

When you use the default SnapMirror policy during transfer of a data protection SnapMirror relationship, what is
transferred? 

A. the Snapshot copy that is created by the transfer process and any existing Snapshot copies 

B. the Snapshot copy that is manually created and any existing Snapshot copies 

C. the SnapMirror license 

D. only the existing Snapshot copies 

Correct Answer: A 

 

QUESTION 4
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You are working with a service provider that is running ONTAP 9.5. You must ensure that the end customer sees the
logical space used. In this scenario, which argument for volume show command will accomplish this task? 

A. is-space-enforcement-logical 

B. is-space-reporting-logical 

C. logical-used-percentage 

D. is-quiesced-in-memory 

Correct Answer: B 

Reference: https://whyistheinternetbroken.wordpress.com/2018/06/11/logical-used-space-ontap94/ 

 

QUESTION 5

You have a 4-node cluster with 2x AFF A700 controllers and 2x FAS8200 controllers. A volume set to default settings is
moved from a FAS8200 to an AFF A700 using the volume move command. In this scenario, which volume parameter
change will allow for data compaction? 

A. space-allocation 

B. security-style 

C. space-guarantee 

D. fractional-reserve 

Correct Answer: C 
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